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QUESTION 1

A P8 administrator has been using Workspace XT to perform the content and process related features of the IBM
FileNet Content Platform Engine (CPE), e. g. update Site Preferences and launch the Process Configuration Console
(PCC). Workplace XT is running on a different server from the CPE server. After a recent Interim Fix Pack upgrade on
the CPE server, the administrator received a java.io.InvalidClassException error when launching the PCC from
Workplace XT.

Which one of the following actions must be done to resolve the problem?

A. Install the latest Workspace XT Interim Fix Pack to work with the CPE system.

B. Run the CPE client installer from the Interim Fix Pack on Workplace XT server and redeploy.

C. Re-run the "Deploy Workplace XT" task in the installation profile in CPE Configuration Manager.

D. Run the CPE client installer from the Interim Fix Pack on the Workplace XT server, redeploy Workplace XT and run
the "Deploy Workplace XT" task again in the installation profile in the CPE Configuration Manager.

Correct Answer: C

QUESTION 2

The IBM FileNet Content Platform Engine (CPE) client installation was completed on an Application Engine (Workplace)
server on a Windows host. The deployment professional wants to check the installation log for errors.

Where will the deployment professional find the installation log file?
A. In the \FileNet\CEClient folder.

B. In the \ContentEngine\CEClient folder.

C. In the \FileNet\Workplace\CEClient folder.

D. In the \FileNet\AE\Workplace\CEClient folder.

Correct Answer: B

QUESTION 3

A customer is preparing to install and deploy IBM FileNet P8 Content Platform Engine (CPE) V5.2.1. Prior to the
installation, which two of the following entities must already exist?

A. IBM Case Foundation
B. IBM CPE V5.2.1 Client
C. J2EE application server

D. Database for object stores
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E. IBM Content Search Services

Correct Answer: AC

QUESTION 4

The P8 administrator of a company has been asked to determine how they can configure their file storage area to
increase throughput.

Which of the following options would allow them to achieve this requirement?

A. Assign multiple file storage areas to a document class.

B. Create a storage policy with multiple database storage areas.

C. Create a storage policy with multiple online storage areas and each on a separate disk spindle or SAN LUN.

D. Create a storage policy with multiple storage areas setting all but one storage area online and the rest on standby.

Correct Answer: A

QUESTION 5

An insurance company has offices worldwide and makes use of the content cache areas for frequently accessed
document content. Recently, the encryption key for encrypted storage area at this insurance company was
compromised and a new key needs to be created.

Which of the following is true for the original content in the content cache areas?

A. If the original content is not encrypted, the cache copy of that content will now be encrypted.

B. If the original content is encrypted, the cache copy of the existing content will now be re- encrypted.

C. If the original content is not encrypted, then the cache copy of that content will be removed and re-encrypted.

D. If the original content is encrypted, then it will be re-encrypted with the new encryption key. The cache copy of that
content will also be re-encrypted with the new encryption key.

Correct Answer: C
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